<u>PUBLIC NOTICE</u> - Notice Is Hereby Given That the Tangipahoa Parish Council Will Meet in <u>Regular Session</u> on Monday, January 28, 2019 Immediately Following the Public Hearing Held At 5:30 PM At Tangipahoa Parish Government Building, 206 East Mulberry Street, Amite, Louisiana, contact number (985) 748-3211

<u>PUBLIC HEARING</u> - Notice Is Hereby Given That a Public Hearing Will Be Held by The Tangipahoa Parish Council on Monday, January 28, 2019 at 5:30 PM At Tangipahoa Parish Government Building, 206 East Mulberry Street, Amite, Louisiana, contact number (985)748-3211, on the following:

T.P. Ordinance No. 19-01- An ordinance placing 15 MPH speed limit signs and drive like your kids live here signs on the East end of E. Fendalson Road in District No. 7 in Tangipahoa Parish in accordance with Chapter 20 streets, roads, sidewalks and drainage- Article I, in General-Section 20

> Tangipahoa Parish Council Tangipahoa Parish Government Building 206 East Mulberry Street, Amite, LA 70422 Regular Meeting Immediately Following Public Hearing January 28, 2019

CALL TO ORDER

INVOCATION

<u>PLEDGE OF ALLEGIANCE</u> (All Veterans and active military, please render the proper salute)

ROLL CALL

CELL PHONES - Please Mute or Turn Off

ADOPTION OF MINUTES- Minutes of the Regular Meeting Dated January 14, 2019

PUBLIC INPUT - Anyone Wishing to Address Agenda Items Which Were Not on Public Hearing

PARISH PRESIDENT'S REPORT

- I. Approval of Change Order No. 2- Club Deluxe Road Widening Project (Conditional on approval by the Office of Community Development)
- 2. Approval of Bid for Florida Parishes Arena Concession Food

3. Financial Report

REGULAR BUSINESS

- <u>4.</u> Adoption of T.P. Ordinance No. 19-01- An ordinance placing 15 MPH speed limit signs and drive like your kids live here signs on the East end of E. Fendalson Road in District No. 7 in Tangipahoa Parish in accordance with Chapter 20 streets, roads, sidewalks and drainage- Article I, in General- Section 20
- 5. Appoint/Re-appoint Tangipahoa Mosquito Abatement District
- 6. Appoint/Re-Appoint Tangipahoa Parish Planning Commission
- 7. Appoint/Re-appoint Tangipahoa Parish Gravity Drainage District No. 4

BEER, WINE, AND LIQUOR PERMITS

LEGAL MATTERS

COUNCILMEN'S PRIVILEGES

<u>ADJOURN</u>

Kristen Pecararo Clerk of Council Daily Star Please Publish January 24, 2019

Posted @ T.P. Courthouse Annex January 24, 2019

In Accordance with the Americans with Disabilities Act, If You Need Special Assistance, please contact <u>Kristen Pecararo</u> at <u>985-748-2290</u> describing the Assistance that is necessary.

Approval of Change Order No. 2- Club Deluxe Road Widening Project (Conditional on approval by the Office of Community Development)

TANGIPAHOA PARISH GOVERNMENT

CHANGE ORDER

CHANGE ORDER NO. 2

DATE: January x, 2019

PROJECT NUMBER AND DESCRIPTION:

Club Deluxe Road Overlay and Widening CDBG No. 53PARA2101

HMGP No. 1603-105-0011

CONTRACTOR: Beverly Construction Co., LLC

ADDRESS: 1215 River Road

Bridge City, LA 70094

ITEM			UNIT REVISED ORIGINAL		REVISED		GINAL
NO.	ITEM	UNIT	PRICE	QUANTITY	AMOUNT	QUANTITY	AMOUNT
A-RW-4	Removal of Pavement (Concrete or Asphaltic) (Up to 12" Thick)	Sq. Yd.	\$9.00	1,262	\$11,358.00	570	\$5,130.00
A-RW-5	Asphaltic Surface Treatment of Class II Base Course	Sq. Yd.	\$3.80	0	\$0.00	3,300	\$12,540.00
A-RW-6	Roadway Excavation	Cu. Yd.	\$7.25	1,041	\$7,547.25	330	\$2,392.50
A-RW-7	Embankment	Cu. Yd.	\$18.00	3,500	\$63,000.00	850	\$15,300.00
A-RW-8	Geotextile Fabric	Sq. Yd.	\$1.50	0	\$0.00	200	\$300.00
A-RW-9	Class II Base Course (8" Thick Soil Cement)	Sq. Yd.	\$9.00	0	\$0.00	3,300	\$29,700.00
ω V-10	Aggregate Surface Course (Shoulders)	Cu. Yd.	\$90.00	0	\$0.00	400	\$36,000.00
A-RW-11	Superpave Asphaltic Concrete (Binder Course)	Tons	\$67.00	383	\$25,661.00	1,400	\$93,800.00
A-RW-12	Superpave Asphaltic Concrete (Wearing Course)	Tons	\$88.00	383	\$33,704.00	600	\$52,800.00
A-RW-13	Superpave Asphaltic Concrete (Drives and Turnouts)	Tons	\$215.00	- 0	\$0.00	50	\$10,750.00
A-RW-14	Traffic Maintenance Aggregate	Cu. Yd.	\$57.00	467	\$26,619.00	100	\$5,700.00
A-RW-18	Restoration of Surfaces (Shell or Limestone)	Cu. Yd.	\$57.00	200	\$11,400.00	100	\$5,700.00
A-RW-19	Portland Cement Concrete Pavement (8" Thick)	Sq. Yd.	\$82.00	484	\$39,688.00	725	\$59,450.00
A-RW-20	Portland Cement Concrete Pavement (6" Thick)	Sq. Yd.	\$62.00	807	\$50,034.00	725	\$44,950.00
A-SD-2	24" Reinforced Concrete Pipe	Lin. Ft.	\$96.50	478	\$46,127.00	570	\$55,005.00
A-SD-3	30" Reinforced Concrete Pipe	Lin. Ft.	\$110.00	888	\$97,680.00	785	\$86,350.00
A-SD-4	36" Reinforced Concrete Pipe	Lin. Ft.	\$137.00	1,238	\$169,606.00	960	\$131,520.00
A-SD-5	42" Reinforced Concrete Pipe	Lin. Ft.	\$158.00	168	\$26,544.00	170	\$26,860.00
A-SD-6	18" Corrugated Metal Pipe Arch	Lin. Ft.	\$60.00	50	\$3,000.00	30	\$1,800.00
A-SD-7	42" Corrugated Metal Pipe Arch	Lin. Ft.	\$199.00	140	\$27,860.00	160	\$31,840.00
A-SD-8	Catch Basin (CB-01)	Each	\$3,300.00	22	\$72,600.00	20	\$66,000.00
A-SD-9	Catch Basin (CB-02)	Each	\$3,690.00	3	\$11,070.00	4	\$14,760.00
X-001	Additional Drainage at Second Rose Hill Church	Lump	\$11,895.25	1.00	\$11,895.25	0.00	\$0.00

X-002	Portland Cement Concrete Curb and Gutter (Mountable- 10" Front)	Lin. Ft.	\$25.00	2,474	\$61,850.00	0	\$0.0
X-003	Paved Drainage Flumes	Sq. Yd.	\$125.00	39	\$4,875.00	0	\$0.0
X-004	Geo-Grid	Sq. Yd,	\$4.00	1,909	\$7,636.00	0	\$0.0
X-005	Limestone Subbase	Tons	\$90.00	557	\$50,130.00	0	\$0.0
X-006	Mill Existing Asphaltic Concrete Pavement (2" to 4" Depth)	Sq. Yd.	\$5.75	2,360	\$13,570.00	0	\$0.0
X-007	Superpave Asphaltic Concrete ("Black Base")	Tons	\$175.00	257	\$44,975.00	0	\$0.0
X-008	Modify Existing Catch Basin Top	Each	\$850.00	10	\$8,500.00	0	\$0.0
X-009	Additional Costs for Traffic Signal Modification at US 51	Lump	\$8,351.00	1.00	\$8,351.00	0.00	\$0.0
X-010	Riprap for Armoring Outfall Pipes at Arnolds Creek	Lump	\$25,000.00	1.00	\$25,000.00	0.00	\$0.0
X-011	Additional Drainage Manholes Required at North Oaks Blvd.	Lump	\$19,320.00	1.00	\$19,320.00	0.00	\$0.0
X-012	Conflict Boxes at Station 150+90 and Station 153+25	Lump	\$17,870.50	1.00	\$17,870.50	0.00	\$0.0
	TOTAL				\$997,471.00		\$788,647.5

AMOUNT OV

OVER / UNDER RUN

\$208,823.50

EXPLANATION OF CHANGE ORDER: Item Nos. A-RW-4 thru A-RW-14, A-RW-18 thru A-RW-20: Quantity adjustment to reflect actual quantities installed or anticipated to be needed due to changes requested by the Parish to the pavement section in Reach 3.

Item Nos. A-SD-2 thru A-SD-7 and A-SD-9: Quantity adjustment to reflect actual quantities installed as required for subsurface drainage

ents necessitated by conflicts with existing utilities.

to enhance drainage in front of the Second Rose Hill Church.

Item Nos. X-002 thru X-008: Add items to provide the new pavement section in Reach 3 as requested by the Parish.

Item No. X-009: Add item for the additional costs incurred to provide mast arms required by the Louisiana Department of Transportation and

Development (LADOTD). These are different mast arms than had been approved by LADOTD prior to construction.

Item No. X-010: Add item to provide riprap armoring at pipe outfalls as requested by the Parish.

Item No. X-011: Add item to provide for the construction of two additonal drain manholes required at North Oaks Drive. During construction it was found that there are existing live drains running along each side of North Oaks Drive near the intersection with Club Deluxe Road. So that these stub-outs remain live, they were connected to the drainage system along Club Deluxe Road. Two additional drainage structures were required

to tie-in these drain lines.

Item No. X-012: Add item to provide for the construction of two conflict structures at an existing gravity sewer line and an existing sewage force main. During construction it was found that the actual depths of a crossing gravity sewer and a crossing sewage force main conflicted with the

proposed subsurface drain line along Club Deluxe Road. Conflict stuctures were necessary at these locations.

Add 10 calendar days for the additional time required to install the additional embankment in Reach 3 per Item A-RW-7.

Add 3 calendar days for the additional time required to procure materials and perform the work required for Item X-001.

Add 4 calendar days for the additional time required to procure materials and perform the work required for Item X-010.

Add 6 calendar days for the additional time required to procure materials and perform the work required for Items X-011 and X-012.

Add 31 calendar days for delays due to conflicts with private utilities.

Add 32 calendar days for delays caused by inclement weather beyond reasonably anticipated days.

This Change Order includes not only all direct costs of the Contractor such as labor, material, job overhead and profit mark-up but also includes any costs, modifications or changes in the sequence of the Work to be performed, delays, rescheduling, disruptions, extended direct or general

overhead, acceleration, any escalation including but not limited to escalation in material or wages, and any other impact costs and any extensions of time to the Contract Times related to the changes herein. It is further understood and agreed that the amounts and any additional time included in

this Change Order are hereby accepted on behalf of the Contractor, its subcontractors and suppliers as full and final compensation from the

Owner for all extended field and home office overhead costs for those items, and that neither the Contractor nor its subcontractors or suppliers shall seek any additional compensation of any kind or any additional extensions of the Contract Time from the Owner for the changes included herein, for the additional work specifically added by this Change Order.

RECOMMENDED BY:

LINFIELD, HUNTER & JUNIUS, INC.

		DATE:	
Engineer			
APPROVED BY:	BEVERLY CONSTRUCTION CO., LLC.		
Contractor		DATE:	
Director		DATE:	
Robby Miller, Parish Pre	esident	DATE:	

Б

Approval of Bid for Florida Parishes Arena Concession Food

SELECTED FOOD ITEMS FOR CONCESSION STAND AT THE FLORIDA PARISH ARENA JANUARY 14, 2019 ALL PRICES ARE TO BE GUARANTEED FROM JANUARY 14, 2019 THROUGH JUNE 30, 2019

Name of Bidders	PON Food Corporate	~	
FOOD ITEM	NAME	PRICE	SIZE
Pillsbury unbaked Biscuit dough (priced by case) 168/3.17oz	Pillsbury 06249	39.69	168/3.17oz
TNT 5.3oz Beef Burger or comparable (to be price per pound)	Holton Pride/TNT	2.83#	30/5.3oz
Double D Smoked Sausage (price per box)	Double D 299	31.17	1/10#
Riceland Clear Canola Oil /35# Container or comparable	Riceland	28.68	1/35#
Heinz Ketchup Volume Pack 3 gallon (28.5#)	Heinz	24.78	1/3 gal
Frito Corn Chips-Industrial Packs 1# bags 8 per case (to be priced per case)	Frito Lay	18.88	8/1#
French Fries-Crinkle Cuts ¹ / ₂ " (5#bags) (to be priced per bag)	Special Pak by Lamb Weston	20.93	6/5#
Parboiled Rice -25# box	Riceland	10.93	25# box

Adoption of T.P. Ordinance No. 19-01- An ordinance placing 15 MPH speed limit signs and drive like your kids live here signs on the East end of E. Fendalson Road in District No. 7 in Tangipahoa Parish in accordance with Chapter 20 streets, roads, sidewalks and drainage- Article I, in General- Section 20

T.P. Ordinance No. 19-01

AN ORDINANCE PLACING 15 MPH SPEED LIMIT SIGNS AND SLOW WATCH FOR CHILDREN SIGNS ON THE EAST END OF E. FENDALSON ROAD IN DISTRICT NO. 7 IN TANGIPAHOA PARISH IN ACCORDANCE WITH CHAPTER 20, STREETS, ROADS, SIDEWALKS AND DRAINAGE - ARTICLE I, IN GENERAL -SECTION 20-16

BE IT ORDAINED by the Tangipahoa Parish Council, governing authority of Tangipahoa Parish, State of Louisiana, as follows:

- 15 MPH Speed Limit Signs on the East end of E. Fendalson Road in District No. 7
- 2) Slow Watch for Children Signs on the East end of E. Fendalson Road in District No. 7

in Accordance With Chapter 20, Streets, Roads, Sidewalks And Drainage - Article I, in General - Section 20-16.

BE IT FURTHER ORDAINED that this ordinance shall become effective immediately upon signature of the Parish President and all previous ordinances in conflict with said ordinance are hereby repealed.

The above and foregoing ordinance having been duly submitted to the Tangipahoa Parish Council in writing; introduced at a public meeting of the Tangipahoa Parish Council; discussed at the said public hearing; after motion and second was submitted to the official vote of the Tangipahoa Parish Council.

On motion by	and seconded by	, the
foregoing ordinance was her	eby declared adopted on this 28th day of January,	2019 by the
following roll-call vote:		

YEAS:

NAYS:

ABSENT:

NOT VOTING:

ATTEST:

Kristen Pecararo Clerk of Council		-	Chairman	
Tangipahoa Parish Cou	ıncil		Tangipahoa Paris	sh Council
INTRODUCED:	January 14	, 2019		
PUBLISHED:	January 24	, 2019	DAILY STAR OFFICIAL JOURN	IAI
ADOPTED:	January 28	, 2019		
DELIVERED TO PRE	SIDENT:	d	ay of January, 2019 at	·
APPROVED BY PRE	SIDENT: _			
		Ro	bby Miller	Date
VETOED BY PRESID	DENT: _	Ro	bby Miller	Date
RECEIVED FROM PI	RESIDENT:		_day of January, 2019 at	

Appoint/Re-appoint Tangipahoa Mosquito Abatement District

MOSQUITO ABATEMENT DISTRICT

3-YEAR TERMS

Commissioner	Term	Expiration
(appointed by)		
Deek Deblieux (8)	1	July 2019
Larry "Pete" Jones (North End)	2	July 2019
Sunny Ryerson (9)	1	July 2018
William Wheat (10)	× 1	July 2018
Adrien Wells (7)	unexpired	July 2019
Philip Graziano, Jr. (Hammond)	2	July 2019
Bruce Caliva (Ponchatoula)	2	July 2019

Appoint/Re-Appoint Tangipahoa Parish Planning Commission

Planning Commission

(5 year terms)

Contact: Mrs. Bridget Bailey 985-340-9028 15485 W. Club Deluxe Road Hammond, La 70403 Meets 2nd Tuesday at 5:30PM at Clausen Building

Commissioner	Appointed By	Term	Expiration
Jack Gautreaux	7	Unexpired	October 2021
985-320-3119			
Charlie Bollinger	2	1	October 2018
Charlie Harrison	5	1	October 2022
Kenny Williams	6	2	October 2021
Lane Daniels	8	2	October 2020
Simeon Bankston			October 2020
Julius Scott	4	Unexpired	October 2019
Anthony Musacchia	4	1	March 2023
985-222-4989			
Graham F. Kennedy	10	1	March 2023
985-634-1455			

Appoint/Re-appoint Tangipahoa Parish Gravity Drainage District No. 4

GRAVITY DRAINAGE DISTRICT NO. 4

4 year terms

Kyle Warren (Unexpired)	November 2018
Lori Bennett (2)	November 2018
Wayne Johnson (2)	November 2018
Eve Willson (2)	November 2020
Mark Miller (1)	November 2019